HOTES:.
i.  NON-IMPAGT RESISTANT SHORT GLAZED PANEL

(DETAIL E) — .090" MINIMUM SSB GLAZING IN MOLDED
FRAMES SCREWED TOGETHER WITH A MINIMUM OF (10)
#Bxt" SCREWS. ((10) ALONG .EACH HORIZONTAL LEG.
AND (2) ALONG EACH VERTICAL LEG) FOR GLAZING.
WITH A MAXIMUM LENGTH OF 16.75" AND MAXIMUM
HEIGHT OF 13,75". MEEYS UNIFORM STATIC DESIGN
PRESSURES SHOWN ‘ON THIS DRAWNG, GLAZING IS
NOT IMPACT RESISTANT AND DOES NOT MEET THE
REQUIREMENTS FOR- WIND-BORNE DEBRIS REGIONS.

, LONG- GLAZED PANEL OPTION — zn_q __pe.)_;mwm
§._._._ THIS OPTION CODE;

3, VINYL OR WOOD DOOR STOP MALED A MAX(MUM
OF 6" 0.C. MUST OVERLAP TOP AND BOTH ENDS GF
PANELS MINIMUM 7/16" TO MEET: NEGATIVE
PRESSURES.

4 KEY LOCK, SUDE LOGKS, OR OPERATOR REQUIRED.

5, SECTION SHALL BE CONSTRUCTED WATH FOAMED IN-
PLACE POLYURETHANE FOAM INSULATION CHEMICALLY
BONDED TO 3C GA MINIMUM FACER STEEL AND A
POLYLAMINATE OR 32 GA STEEL BACKER. END CAP
FO HAVE A MINIMUM 7.4 DEPTH.

8. THE DESIGN OF THE SUPPORTING STRUCTURAL
ELEMENTS SHALL BE, THE RESPONSIBHITY .OF THE
PROFESSIONAL OF RECORD FOR' THE BUILDING OR
STRUCTURE' AND IN ACCCORDANCE WITH CURRENT

me.whum CODES: FOR THE LOADS LISTED ON THIS

7. DOOR JAMEB TO BE MINIMUM 2x6 STRUCTURAL
GRADE LUMBER. REFER TO JAMB CONNECTION
SUPPLEMENT FOR. ATTACHMENT TG SUPPORTING
STRUCTURE.

8, LOUVER OPTION (DETAIL F) — 08" MINIMUM-
LOUVERS I MOLDED FRAMES, 18"X13.9% (DLO=15
1/2°X 10 1/27), SCREWED TOGETHER WITH A MINIMUM
-OF (12) #Bx1" SCREWS ((3) ALONG EACH HORIZONTAL
LEG AND- {3) ALONG EACH VERTICAL LEG). LOUVERS:
ARE NOT IMFACT RESISTANT AND DO NOT MEET THE
‘REQUIREMENTS FOR WIND-BORNE DESRIS REGIONS.

WITH OPERATOR. — SEE NOTE

13 GA HORIZ ANGLE—,
13 GA FLAG ANGLE—

16 -GA MIN HORIZ—|
TRACK

B /16%1-5 /8"

LAG. SCREWS K

(M 3 AS

SHOWN}

16 GA MIN VERT-.|
TRACK. [h

18

5/16x1-5/8" LAG—{|
SCREW AT EACH
JAMB BRACKET

1/4—20x9 /18" TRACK~]
BOLT ANG 1/4—20 HEX
NUT AT EACH JB. JAMB
BRACKET LOCATON

15 GA m._._m.m.mzm_ul\
_ JAMB BRACKETS
SEE SCHELDULE FOR
QUANITY, LOCATION,
" AND TYPE

KEY .LOCK OR:SLIDE LOCK—]
BOTH ENDS (NOT REQUIRED

SEE U-BAR NOTE ON SHEET
2 FOR U—BAR INSTALLATION

REVISIONS

P1 ADDED SUPERIMPOSED.
OESIGN PRESSURE LOADS
ON SUPPORTING
STRUCTURE AND.
CLARIFIED NUMBER OF
FASTENERS AND™ CENTER
HINGES REQUIRED FOR
NMARRGWER DOOR WIDTHS:
MRB.-5,/10,/05

P2 MODIFIED NOTE 8 1O
[STATE THAT LOUVERS

P35 MODIFED -JAMB
BRACKET SCHEDLULE FOR
FAT GPTON. ADDED LHR

P4 ADDED TEXAS LICENSE
NUMBER TO TITLE BLOCK.
ICHANGED:. LOUVER NOTE.
INCREASED MAX HEIGHT

' [To_&'-a". ADDED HIGH

FT AND ROOF PITCH
[TRACK MOTE.
RT 4/25/08

05 UPDATED TITLE BLOCK
GRT 5/4/10

, P8 ER31223

CHANGED DOOR. MODEL
UMBERS, AND BACKER

 [REV ¢ — UPDATED

REVISION FROM NUMERIC
TO ALPHA DRAWING
UPDATES. FOR TDI

SW 3/24,/21

REV H —-UPDATED

LOUVERS. ARE. ONLY INSTALLED IN THE BOTTOM 4). SUDE LOCK SHOWN FOR
SECTION. L.OUVERED SEGTION REGUIRES OPERATOR CLARITY \, [PRAWINGS FOR- TOI
STILE TO BE FACTORY INSTALLED AT THE CENTERLINE LG 4/20/21
OF THE DOQR.. NOTE:. (4) SECTION SOUD
DOOR SHOWN. SEE SHEET 2
FOR.UJ—BAR LOCATIGNS ON =
gom Sy e
AND. NOTE 1 =
GN ‘THIS SHEET FOR GLAZING || B :
OPTONS. M NOTE: (5) CENTER HiNGES PER JOINT
REQUIRED ON DCOR WDTHS GREATER THAN
g 12'~0% (3) CENTER HINGES PER JOINT
_ REQUIRED ON DOOR WIDTHS LESS THAN OR
— — : — _ QUAL TO 12'~Q".
SUPERIMPOSED DESIGN PRESSURE JAMB BRACKET SCHEDULE _
LOADS ON_SUPPORTING STRUCTURE DOCR | NO. OF | ok S48 | Rack SRACKETS. HEAGURED Thon B0
MAX | _ _ _ _ HEIGHT [SECTIONS] (pacyy jamg){ TYFE OF TRACK (ALL DINENSIONS £ 2°)
poor |, BOOR UNIFORM LOAD EACH JAMB (PLF} . _ - 1
T | HEIGHT INIFORM LOA HAMB 70 g ; Q[ {B), 15" (I}, 25-1/2° (JB), 34 (d8), 46—t/ (Q), 63 (JB)
160" ALL +207.2/-230.4 ﬂnlo” 4 & " FAT N” {uB); :u” {J8), M.H..Iu\a... Qm..u.. 28=3/4" thu. 42" @mu. 83—1 \#n {J8)
YO TR +181.3/=2016 80 5 8 _ @] (JB), 13 (@), 23 (5. 34 (49), 47—-1/4" (Ql), 58 (JB), 67" (QN, 75 (dB)
120" ALL 1155.4/-172.8 B=0"| & 8 | FAT 2" (JB), 10" (JB), 21-3/4" (4B), 29-3/4" (4B), 48" (/B), 57-1/4" (JB) 66 (dB), s5—1/2° (B)|
W0—0"|  ALL +129.5/-144.0 > B0 \I_n_._ UFT/ROOF PITCH SEE NOTE BELOW
~ MOTE: .
o f.r/fz/: (J8) FOLLOWING. DIMENSION DENQTES SLOTTED JAMB BRACKET ATTACHED. TO TRACK WITH 1/4-20x8/16" TRAGK BOLT AND NUT.
\...I.v\.mm OF 1& Y, (Ql) FOLLOWING DIMENSION DENOTES QUICK INSTALL JAMB BRACKET INSTALLED IN' BUTTERFLY SLOT. NO ADDITIONAL HARDWARE NEEDED TO ATTACH TO .TRACK.
PR\ \_v\% .: ALL DOORS WITH HIGH LIFT, ROOF PITCH, AND/OR GREATER. THAN 8' iN HEIGHT REQUIRE. USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK: CHART FOR DETAILS.
‘ - - -
> &k .... * d ..-. .*‘
i W
7 JUNFENG GIAN 7
EAMIT AR s T Z
fo% 130813 ....n,_\
,\b s : : :
_.. \W Aﬂ.m.zmww.mw/%c\\\ _ _ STATIC PRESSURE RATINGS APPROVED SIZES  |SCALE: N.T.S. SIZE: A
,.__ ) a@ozyrmﬁlltx Em<:m {DESIGN (PSF):  +25.90/-28.80  |MAX WDTH: 160" DATE NAME
L Qa} M nmum_c —.ﬂ TEST (PSF): +38.85/—43.20 MAX HEIGHT: 8&'-9" |DRAWN 3/8/06 GRT
\.wo\vép._. NFENG QAN o: IMPACT/CYCLIC' RATED (YES/NO): NO [MAX SECTION. HEIGHT: 21" [CHECKED| 4/20/21 TLC
STB R GARAGE DOORS MODELS 5145/9405,/9600 SHEET 1 OF 2
TEXAS PE 130813 A OIVISION- OF OVERHEAD DOOR CORPY DRAWING PART NO. | REV.
3305 ADDISON DRIVE o . . e NG .
_uxo_..mmm_ozz. mzn_zmmmm SEAL vmas_umu ONLY FDR . . . R . ) by . . ’ :
VERIFICATION OF WINDLDAD CONSTRUGTION DETAILS. COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018 _umzm_n%m% #ﬂrmmomwounmz. WINDLOAD SPECIFICATION OPTION CODE. 0607 319033 H




13 GA ADGUSTABLE TOP
FIXTURE ATTACHED TQ
PRE—PUNCHED HOLES:
IN BOTTOM OF U-BAR
WITH (2} 1/4—14x5/8"
CRIMPTITE "SCREWS

13 GA ROLLER SLDE ATTACHED TO
PRE=PUNCHED HOLES IN TOP 'OF U-BAR
WTH (2) 1/4—14x5/8" CRIMPTITE SCREWS.
USE VIEWING HOLE IN SLIDE TO EMSURE
PROPER. ALIGNMENT OF ROLLERS

15 §A HINGE ATTACHED

WITH (&) 1/4—14x5/8"
CRINMFTITE SCREWS (2 OF ‘
WHICH ARE FACTORY _
ATTACHED)

2" NYLON STORMGARD
ROLLER WITH
4-1/2" STEN

18 GA HINGE ATTACHED
WTH (6) 1,/4=20x5/8"
CRIMPTITE SCREWS (2 OF
WHICH ARE FACTORY
ATTACHED, 3 OF WHICH
ARE FIELD INSTALLED INTO
TOR LEAF, AND 1 OF
WHICH IS FIELD" INSTALLED
THRU PRE—PUNCHED HOLE
IN U-BAR

12 GA BOTTOM BRACKET
FACTORY ATTACHED WITH
{3) 1/4—14x5 /8"

CRIMPTITE  SCREWS-

DETAIL D

WTH. THE (&) -PRE-PUNCHED

)
Q“.,»

3 .\b.n.n\? JUNFENG QIAN
5729. AMPHORA AVE
MCHINNEY, TEXAS 75070
TEXAS PE 130813

PROFESSIONAL ENGINEER'S SCAL PROVIDED ONLY FOR

VERIRCATION OF WINDLOAD CONSTRUCTION DETALS,

PLACE U-BAR OVER INTEGRAL RIB

HOLES EACH ‘END FACING UPWARD .
AND ATTACH THRU END CAR AT
EACH END WITH. (2} 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS:
FOR ‘STANDARD TRACK AND (3)
1/4-14x7/8° SELF ORILLING
CRIMPTITE SCREWS FOR LOW
HEADROOM “TRACK {2 OF WHICH
ARE USED TO ATTACHED. THE TOP"
BRACKET AS SHOWN). _

33 GA ADJUSTABLE
TOP FIXTURE

~.090" ANNEALED SSB
. GLASS. {MIN}
—_—

PLACE U~BAR OVER INTEGRAL RIB WITH #8x1 SCREWS
THE (8) PRE—PUNCHED HOLES EACH END . .
FACING UPWARD AND ATTACH THRU END {5) SECTON DOORS
CAP AT EACH END WITH (2) 1/4—13x7/8" WTH (6) 3% 18 GA,
SELF DRILLING CRIMPTITE 'SCREWS 80 kS| U-BARS:
EXCEPTION: U—BAR FLACED  OVER TOP LOCATED OVER
RIE ON THE BOTTOM SECTION SHALL ONLY INTEGRAL ‘RIBS A5
BE ATTACHED THRU END CAP AT EACH SHOWN
END WITH (1) 1/4~14x7/B" SELF DRILLING
CRIMPTITE SCREW LOCATED ON THE 1/87 BEAD: OF BOSTICK (4) SECTION DOORS
BOTTOM FLANGE OF THE U-RAR 1100 OR EQUIVALENT WTH (3) 37 18 GA
NOTE:. DUE TO CLEARANCES REGUIRED TO 80 KS) U~BARS
INSTALL SCREWS AT THE ENDS OF THE LOCATED OVER
INSTALLED ON SEGTIONS PRIGR. T0 . Vs SHOW :
INSTALLING ROLLER. SLIDES AND TOP L e bl
FIXTURE ON. THE U—BARS. SEE . . .
ATTACHMENT NOTES ON THIS SHEET. L e
-PLACE J-BAR OVER . . . .
"INTEGRAL RIB AND ATTACH PLASTIC FRAME.
WITH (2) 1/4—20x5/8" :
PRI S (STATIC RATED) '
PRE-PUNCHED HOLES AT DETAIL_F .
EACH INTERMEDIATE HINGE
LOCATION (1 THRU FLANGE 0
OF U—BAR AND BOTTOM
HINGE LEAF AND 1. THRU
WEB GF U-BAR AND
INTEGRAL RIB OF SECTION)
chmmmleEn_"Emz“_.lszmm.
‘ALL U-BARS SHALL BE PLACED OVER INTEGRAL
m_mm AND ATTACHED THRU PRE—-PUNCHED HOLES: [
WITH (2) 1/4—14x5/8" CRIMPTITE SCREWS AT EACH !
P U=BAR- RIEZ W (NTERMEGIATE ‘HINGE LOCATION, {2) 1/4—14x7/8" d
z_mwmm ﬂoﬂﬂx%ﬁ%ﬂ.&mﬁ%%ﬂroz ™ SELF ORILLING CRIMPTITE SCREWS AT EACH END CAP .
BRACKET AND ATTACH THRU. END CAP (EXCERT BOTH U~BARS OM . BOTTOM SECTION — SEE g
AT EACH END WTH {1} 1/4—14x7/8" DETAIL B ANG D THIS SHEET); (2) 1/4-14x5/8".
SELF. DRILLING CRIMPTITE SCREW AS CRIMPTITE: SCREWS APPROXIMATELY MIDWAY BETWEEN
SHOWN AND USE A._u ._\.a..l:.xu_\m “SELF EMD OF DOOR AND INTERMEDIATE HINGE _-Dn}.__.ucz
DRILLING CRIMPTITE 'SCREW ACROSS THE AND (1) A\?Rxm\m ‘CRIMPTITE SCREW
BOTTOM OF THE S0TVOM U—BAR AT APPROXMATELY 8" FROM EACH END. FCR DOOR:
EACH PRE—PUNCHED HGQLE AT EVERY WIDTHS GREATER THAN 12™—0", THERE SHALL 8E A
HINGE LOCATION, USE (1) 1/4—20x5 /8" TOTAL OF (20) SCREWS ATTACHING EACH U~BAR £
CRIMPTITE SCREW AT ALL OTHER EXCEPT BOTH U-BARS ON BOTIOM SECTION ‘SHALL
PRE—PUNCHED ‘HOLE LOCATIONS, . HAVE: A TOTAL OF (18) SCREWS EACH. FOR DOOR i
080" (MIN) ALUMINUM WIDTHS LESS THAN OR EQUAL TO 12'-0", THERE i
LOUVER SHALL BE A TOTAL OF {16} SCREWS: ATTACHING
. EACH U-BaR EXCEPT BOTH U-BARS ON BOTTOM
L SECTION SHALL HAVE A TOTAL OF (14) SCREWS
INTERIOR FRAME EACH,
‘2. WITH THE EXCEPTION OF d._moﬁmmmmm%%zn:mu
~5" SE|Fo HOLES IN THE TOP OF EACH EN
EXTERICR mmxm___ TAPPING ATTACHMENT OF THE ROLLER SUDES AND THE -(B)
FRAUIE 'PRE~-PUNCHED HOLES IN THE BOGTTOM OF EACH- END .
. o USED FOR THE ATTACHMENT. OF THE TOP FIXTURE
BLASTIC FRAME -AND 'UNLESS NOTED OTHERWSE ON THIS n
‘SPECIFICATION DRAWING, AtL PRE=PUNCHED HOLES
IN ALL U—BARS SHALL BE ATTACHED TO THE DOOR
WITH 1/4—14x5/8" CRIMPTITE SCREWS.

3. 18 GA U-BARS SHALL BE STAMPED ™48
APPROXIMATELY 8* FROM EACH END.

2

REVISIONS

_ STATIC .PRESSURE RATINGS _ APFROVED SIZES  ISCALE: N.T.S. Jsizee A
§m<= e DESIGN (PSF):  +25.90/-28.80 _|MAX WIDTH: __ 16'—0" DATE NAME
== U _ TEST (PSF): +38.85/—43.20  [MAX HElGHT: &'—-9" |DRAWN 3/8/06 GRT
m ._no 33 IMPAGT/CYCLIC RATED (YES/NOY:- NO |MAX SECTION HEIGHT: 21" ICHECKED] 4/20/23 e
GARAGE DGORS MODELS 514579405 /9600 SHEET 2 oF 2
A OVISIONGE, ADDISON, DRVE . o . _ — DRAWING PART NO. | REV.
PENSACOLA, FLORIOA 32514 WINDLOAD SPECIFICATION OPTION CODE 0607 319033 Y




